ui
AN g2
STECL uanty, " ,
POWERED BY|]W, Shgilaly o |sf e,
J f"*"‘cof...ﬁ' RN 4 ¢ E; % %2
T i%ia % Gy dm 87
I ' wi A e £ N fu
® b2 ™ '.g c 3 d ?’— T
LR 55 £q0 2
DOOR COMPONENTS MADE IN THE USA '}O\;S‘- .,‘%..: gF £ 8%
"I 92 158 2>, 4
t é’ "o, c.,.:',z i Q 9 pg E
112.94' MAX. OVERALL WS D L x 88° 8 g
FRAME WIDTH e oxS TE
? Zg8, Ou
2 2 6o ™~
£ Bo& gk
Glazed Steel Door : = o
§ gg
; g @ W
"NON-IMPACT" S
INSWING / OUTSWING L) -2
o < 20
z & S3
238
| e | <
r = g vy =L
o) > (G
g 5 : |gas
xI g N -3
18] [TY] L(})J L wn
: 2 O X O 4 2¢
&g 5 ¢ 2 3
2 3 © 2 |5tk
A
EVALUATED FOR USE IN THE STATE OF TEXAS gy o« % % al
The Glazed Steel Door system described herein complies with the 2018 5 5
infernational Residential Code {IRC), Sections R301 & R60% and the 2018 2 . 0| oo %
Intfernational Building Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 <§f :zé =
subject o the foliowing conditions: S §
o

1. Anchors shall be as listed and spaced as shown in the details. Anchor 5 < : z Q
embedment to base material shall be beyond wall dressing or stucco. o 5 % § -

2. When used in areas requiring wind-borne debris protection this product is 'g J|n|5 "
required o be protected with an impact resistant covering that complies CIIElel |2
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. ué g FIE %

3. Allowable design pressure requirements must be equal fo or less than the E & § § :.%
design pressure rating shown in the design pressure chart, sheet 1 of this s S S Iy
drawing. @ w|& x

4. Conditions not covered by this drawing are subject to further engineering L = a
analysis. 31518|8

< <<
TABLE OF CONTENTS g 0¥
Lot
SHEETE | DESCRIPTION o §§ o
1 Typical elevations, design pressures & general notes § ; ~O
2 Door panel details (lip lite insert glazing) Tl S
3 Slidelte panel details (lip lite insert glazing) =z
4 Horizontal cross sections INSWING +30.0 .35.0 oate: 8,/08/12
5 Vertical cross sections OXO : ) ScAlE:  N.T.S.
6 Vertical cross sections DWG. BY: JK
7 Frame anchoring OUTSWING +25.0 -25.0 CHK. BY: LFS
DRAWING NO.:
TX—4211
SHEET _1 oF _7

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBQO\TX-4210-11.dwg, TX-4211




RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBA\TX-4210-11.dwg, 2.4

1.24"

INTERIOR

28" 1.24"

i
¥/

Y

]

Z 24" LONG

EXTERIOR Z
HINGE STILE
(WOOD) LOCK BLOCK Lﬁggg“E
(WOOD) (WOOD)
m HORIZONTAL CROSS SECTION
2
36" MAX.
PANEL WIDTH
21" MAX
D.LO. WIDTH #6 X 1-1/2' PH SMS
2 "
GLASS BITE 7/16
INTERIOR
p ———1/2" NOMINAL GLASS THK.
. / It |~ 1/8'TEMPERED GLASS
b S . — AR SPACE
x ] S ~~—1/8" TEMPERED GLASS
85 %0 ;
= <O i
<o IE STEEL SPACER
iz o ° X .
>2 R . EXTERIOR Q'SO SEALANT
!
™ LOW TACK SEALANT
1) GLAIING DETAIL
SEE HARDWARE Lip Lite Insert Glazing
TABLE
D
THERMA-TRU
insert glozed
(steel)
cwikser | LATCH:  SIGNATURE SERIES (991)
DEADBOLT:  SIGNATURE SERIES (780/985)

TOP RAIL

(COMP.)

FOAM CORE
(POLYURETHANE )

RLLILLLELL W
-\

i

INTERIOR

77

A\N

24 Ga. STEEL SKIN\ o

BOTTOM RAIL
(COMP.)

W\

0.94"

61 ;:”..".Z) 'a; Q
M LS
SRRLLLL Y

e,
*s
2,

S/ 20

=

EXTERIOR

0.94"

/" 2"\ VERTICAL CROSS SECTION

\2/

uj
eQ
.~
53
Ex a
£ 0
QO M
U)u.! "
.o ~
. dm
:g 6
o 0 ®
o 0 0
g T
3 G
>,
o®m
n
o
X
]
m
[e]
a.

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—-11852

-~~~
[0
n=Z
=N
=3
iy
Lé.lL’)
< b~
o TR s
S >l g
Q ol ZY
= g ==
Il e
<l O
K (@]
o 5 e
2 <
e &
© <
o o
ol lefeks
- ) )
Ly
)
Ie)
%08
<)
CZ)ESA
EiN I
o OB A
S|aly |0
N z
o|®|E|Z| 1O
ElalLlS| ©
L b I B I
NEIRI
clOIoIQ L
s|IFIRIEl |
CIMISES
DFQ
ol
:Q<(8
Q%QQ
al>|ala
<| <<
O jo|w
N
pdd Dol
NIsNE
RN ES
o
N =12

oATE: 8/08/12

scate: N.T.S.

DWG. BY:

JK

CHK. BY: LFS

DRAWING NO.:
TX—4211

SHEET 2 oF 7

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBC\TX-4210-11.dwg, 3.4

—— 124"

INTERIOR

N

] 124" f=—

— 1.75" —=]

AN

PA A

¥/
/4
A\

W

7

[

<N

EXTERIOR

STILE
(WOOD)
/" 1"\ HORIZONTAL CROSS SECTION
\3/
36" MAX.
PANEL WIDTH
21" MAX
D.L.O. WIDTH
E 3 } #6X 1-1/2" PH SMS
—] GLASS BITE 7/16"
INTERIOR
AN
7 !!{ -
R £
o) — = E§3 -
8% %0 -
<& zE 2D 3 S
:d 2o ° X \3/ *’
W Z = STEEL SPACER
N
w EXTERIOR Q'SO SEALANT
LOW TACK SEALANT
o1)-GLAZING DETAIL
Lip Lite Insert Glazing
D
THERMA-TRU
Insert glazed
(steel)

STILE
(WOOD)

|_—

1/2" NOMINAL GLASS THK.
1/8" TEMPERED GLASS

~~—1/8" TEMPERED GLASS

TOP RAIL
(COMP,)

FOAM CORE
_\

[POLYURETHANE )

INTERIOR

24 Ga. STEEL SKIN —\—\J o

BOTTOM RAIL
(COMP.)

oy

ERTLTHTE e
A

0.94"

EXTERIOR

/"2 "\ VERTICAL CROSS SECTION

\3/

uj
agq
. 0
Jo 14
£ 5 4
£* oz
D OwW [
& £, Z
e .da
c o
o 0o® 3
° oo §
s =sE0 =
ko dJg0 0
25, 0
7]
= i
Zom o
an- 2
'y ON - g
o x2
o 0 b
® Zmo (o]
2 255 o
[ 50¢ %
& oo o 8
g
c g:
® e;
E g
3
1]
)
o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

SIDELITE PANEL DETAILS
(LIP LITE INSERT GLAZING)

LFS | PART OR ASSEMBLY:

LFS
LFS
8Y

UPDATE TO 2018 IBC/IRC CODE

9/05/18 |ADD ADDITIONAL THRESHOLDS

12/19/191ADD "FusionFrame” OPTION &
1/06/14 |ADDED ARTICULATING SILL

-

3
2

NO| DATE

REVISIONS

oatE: 8,/08/12

scale: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4211

SHEET 3 oF 7/

© 2012 R.W. BuUNLDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBC\TX-4210-11.dwg, 44

i
1 { : } o8
g3 2
5/ 5 EX o w8
S T
q D w
" " 3 gf% >
/ / / T ca &8
) y ) V4 y J/ " 5 5 g ?; gé
/ / / BACK-TO-BACK JAMBS: S 5 § § ® é 2
", : " | = 3 ul
.,FUSiSnLFgmeu FusionFrame" (1 OR 2-PIECE} | o 0 é g g:
MULLION £ Eoo Of
a. O
\4/ I &/ @ ) INTERIOR #I0X21/2'PFH | & § 2
O WOOD SCREW § @ g 5
@) X o) #8X 2-1/2" FH COURSE [ | ENDURA wEATHERSTRIP (SEENOTE 2) -
v m ) THREAD DRYWALL SCREW (QEBD/PE 650) o
ol ~ (SEENOTE 1) ENDURA WEATHERSTRIP SIDELITE PANEL
4/ DOOR PANEL (QEBD/PE 650) L
\ 4/ 0
=
/ / / 4 = X$ 3
/ / / x 3 S g |28
/ / 7/ a a} 8 wn
/ 5 |3 58
> > d < #10X 3" PFH ol TQ
/ < 5 > 73N 1N 2 (4 #8X 2-1/2" PFH WOOD SCREW DOOR PANEL e :ZOOD SCREW ' (SEENOTE 1) é 5
3.4
CORNER PADS &/ s N/ #8 X 3/4" PFH SMS 4" HINGE EXTERIOR g 5
(TYP) /"3 HORIZONTAL CROSS SECTION ("4 HORIZONTAL CROSS SECTION 2l 2l
) \U Outswing shown - Inswing also approved w Outswing shown - Inswing also approved "
e 1 5" ] ~=—1.5" — ‘,38
it O (8
WOOD 4-3/8" FATBOY 4-3/8' FATBOY zI213l
\ PINE MULLION \ PINE MULLION =5E|R
(e fa Yy [72]
INTERIOR T IES] 12
COMPOSITE Rt #8X 2-1/2" FH COURSE o2 F|E 1O
/ N . #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW siRIZIS £
o 2 THREAD DRYWALL SCREW (QEBD/PE 650) (SEE NOTE 1) to|5IS| |
) SO 2 SITIElR
N q_ N N SEENOTET) DOOR PANEL ENDURA WEATHERSTRIP |- - SIDELITE PANEL Zwigl<
N (QEBD/PE 650) 1 [ / “I151Re
\ M M s y oS oo
&, Q> Q|2
525! <
g % > ¥ v .‘!L ///////s‘///’///(// \ 9 © <
N S ?ﬁy NS
N & 3 B
2.5" 2.5" / \ o |N-[S
FATBOY MULLION MULLION SIDELITE PANEL 48X 1" PEH SMS \ #8 X 2-1/2" PFH WOOD SCREW oNTE:_8,/08/12
PINE "FusionFrame" #8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH ScALE:  N.T.S.
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR STRIKE PLATE owe. 8:  JK
CHK. BY: LFS
NOTES: DRAWING NO.:
1. Spacing for sidelite screws: 6.5", 35.5", 57.25" and 85" from head to sill {4 total). m HORIZONTAL CROSS SECTION m HORIZONTAL CROSS SECTION TX—4211

2. Spacing for mullion screws: &' from each end plus 3 more equally spaced (5 total).

W Outswing shown - Inswing also approved w Outswing shown - Inswing also approved

SHEET 4 oF 7

© zo12 R.W. BUILDING DONSULTANTS INO.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBC\TX-4210-11.dwg, 54

ud
2X FRAMING 2X FRAMING %Fffggf & n
- (G >=0.42) (G>=042) — ] 33 2.
[ & E - 0 wwn
i ™ A T | \\ fE,* b 4%
1 Sk T ol EXT. SHEATHING [ o AN )]
EXT. SHEATHING p/{/ - TN EXT. SHEATHING SN Ly SB9 e
\ i i DRYWALL \ i P 1 | DRYWALL EF £ 52
o L K, ) 6 9
) cL 1114 a >n gg
! . ER i 203
L | #10X2-172" PFH TN #10 X 2-1/2" PFH | 5 S8 2o
/4 MAX 1 | WOODSCREW a7 L WOOD SCREW , 3 g3f st
N 4110 P! g § 'g Do
SHIM SPACE 1/4" MAX. ' > § 5098 Bu
\ 1 o SHIMSPACE\ o il ™ #10X 3" PFH & Boa g'g‘
b¥g ¥ = WOOD SCREW 2 X o
SGE — =4S 1/4" MAX. : @ g%
e o
| SHIM SPACE = (1000 ‘ETE‘F] §
DOOR PANEL \\ [ SIDELITE PANEL ~ \ i DOOR PANEL \
™~ HEAD: PINE N HEAD: "FusionFrame" (1-PIECE) %
. #8 X 2:1/2'FH COURSE HEAD: PIRE ENDURA WEATHERSTRIP =
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650) 3
(QEBD/PE 650) {SEENOTE 1) g 0
I N > s O
EXTERIOR ~ “  INTERIOR INTERIOR 7 EXTERIOR EXTERIOR INTERIOR s g8
, NOTE: I I I
{1\ VERTICAL CROSS SECTION {2\ VERTICAL CROSS SECTION (3" VERTICAL CROSS SECTION * Spacing for sidelite screws: 3 =
\y Qutswing shown - inswing also approved w Inswing shown - Qutswing also approved \y Outswing shown - inswing also approved 6" from each end (2 total). o o B
3 S| 4
o &
a o
SHEEE

0.75" —t<—>1 0.75" —-l-—», r<—>f— 0.75"
COMPOSITE
\ SNAP-ON
CA(\
s
=11
/
0 Lvi
]
of
———»‘ 1.25" L—-——- 125" = | 195 |le—
JAMB / HEAD JAMB / HEAD JAMB
PINE "Fusionframe” "FusionFrame"
{1-PIECE) {2-PIECE)

/ /DRYWALL JAMB: "FusionFrame"
1 OR 2-PIECE
e INTERIOR ( N )

174" MAX.
SHIM SPACE
#10 X 2-1/2" PFH WOOD SCREW
JAMB: PINE
#8 X 2-1/2" FH COURSE \

THREAD DRYWALL SCREW

{SEE NOTE 1) \\
\\\\\\\\\\?\\\\\\\\\\\

AR VUG Y

g R — e
=R ey DS S .3
ey e R R Mg Mg

SIDELITE PANEL

1/4" MAX. #10 X 2-1/2" PFH
SHIMSPACE  WOOD SCREW

T

#8 X 2-1/2" FH COURSE
THREAD DRYWALL SCREW

(SEE NOTE 1)\

2X FRAMING 2X FRAMING
(G >=0.42) (G >=0.42)
SIDELITE PANEL
EXT. SHEATHING EXTERIOR EXT. SHEATHING

/4 \ HORIZONTAL CROSS SECTION
\y Outswing shown - Inswing also approved

m HORIZONTAL CROSS SECTION
\y Outswing shown - Inswing also approved

UPDATE TO 2018 IBC/IRC CODE

9/05/18 |ADD ADDITIONAL THRESHOLDS
1/06/14 |ADDED ARTICULATING SILL

12/19/19|ADD "FusionFrame” OPTION &

~—

3
2

NOJ DATE

REVISIONS

oaTE: 8,/08/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
T™X—4211

SHEET 5 oF 7

©zo12 R.W. BUILDING CONSULTANTS INC.



RAClients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-586 Therma-Tru Stee\Drawings\REV 2018 IBC\TX-4210-11.dwg, 6.4

ENDURA
gg\%f DOOR SWEEP
AN (DBK-R)

221,

mm&

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 1"\ VERTICAL CROSS SECTION
\U Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEE NOTE 1)

INTERIOR

ENDURA WEATHERSTRIP

ENDURA
DOOR SWEEP

V406000

EXTERIOR

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

INTERIOR

NOTE:

#10 X 2.5" PFH WOOD SCREW OR 1.
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION

#10X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

1 INSWING ADJUSTABLE THRESHOLD
ZAIL4565

b 4.56" |
5 )} INSWING ARTICULATING THRESHOLD
ZACL4565

QUTSWING THRESHOLD
I0OBL4565

1

2 INSWING ADJUSTABLE THRESHOLD
ZAI4565FN

456" |

7 INSWING ARTICULATING THRESHOLD
ZAC4565FN

! 456" |

12 OUTSWING THRESHOLD
ZOB4565FN

W inswing Articulating Threshold

W Outswing Bump Threshold

S‘EEHE’E\;' QOE

%

#8 X 2.5 COURSE THREAD — 122 gﬂgl?

DRYWALL SCREW = | |

(SEE NOTE 1) | 7 //</< 7/////"1
EXTERIOR ,

NTERIOR
#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

w Outswing configuration

bl 456 | 1 456" | } 456" ~

3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
TAILAA4565 TAIAA4565FN 7AI4565RDS

h %

bl 456" | [ 456" | f 456" |

@ INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD

IACLAA4565 ZACAA4565FN TAC4565RDS

1 456"
13)-QUISWING THRESHOLD

ZOB4565RDS

Spacing for sidelite screws:
6" from each end (2 total}.

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FlL. 33595
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Docurnents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

wy
=
\JQ
< 5
2 o O
) =l =0
3
= o &g
& gl Sa
5 s
< &)
£ e
(&)
S S
S &
& <
o 0.
L @um.g
-— -t d

UPDATE TO 2018 IBC/IRC CODE
REVISIONS

9/05/18 |ADD ADDITIONAL THRESHOLDS

12/19/19]ADD "FusionFrame™ OPTION &
1/06/14 |ADDED ARTICULATING SILL

~——

3
2

NO| DATE

DATE: 8/08/12

scALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4211

SHEET 6 oF 7

© 2012 R.W. BUILDING CONSULTANTS INLC.



may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
3. Concrete anchor table:

~—

s o HEAD ANCHORS: : Q
O E 2X FRAMING #10 X 2-1/2" WOOD SCREW {PINE JAMB) . S¥ 0
£Qa (BY OTHERS) #10 X 3' WOOD SCREW (1-PIECE JAMB) ¢ JAMB ANCHORS: 2 2 b3
NOZ ¢ vP) - #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) £* @ 22
5 O ¥ 2 : #10 X 3" WOOD SCREW (1-PIECE JAMB) oW dw 07
= me) T~ & woo a8 Bl
| ) = ) | Tz SR | £a0 i
' } 11T ", 4 £ = Q
SEE HINGE ; T T 1 ] R 37 538 pe
] DETAIL 1 — : 2y 2on w§
T i 1 Qi xiti & cmn® o
. DETAIL 1 DETAIL 1 Mt @ °O%: &y
X T - 3 235 by
(o o it o 0o
@ £ s Z b 945 o°
5 < & 592 op
E a é o m oo 88
3 \ 3 2 E X B8
© 8
s - A 1
=
SEE HINGE ‘ F ©
DETAIL 2 \ * E
B <
N ) — 1 SEE STRIKE _/ Al I S > §
. DETAIL w0 % § <
Q.
2z b
‘ ZG ) 4 g
DETAIL 1 —\& f DETAIL 1 NG 5 «
- = [m]
I L (N ; 2 %
7\ 4'(TYP) —— SILL ANCHORS: 2l 155l
2" (TYP.) —=— #10 X 2-1/2" PFH WOOD SCREW =
1/4" X 2-3/4" ELCO OR W 8
HINGE JAMB FLOOR SUBSTRATE MATERIAL FRAME ANCHORING ITW CONCRETE SCREW STRIKE JAMB \y 3|0|¢,
- CONCRETE [MIN. 3000 PS}) 18)'(0) - " DEADBOLT SECURITY z[0l3
WOOD (G >=0.42) E STRIKE PLATE AN
JAMB NOTES: ) 1 sl o
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. #8 X 3" COURSE THREAD #10x3"PrH WS (4 — || W[0|EZ| &
THE FusionFrame” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. DRYWALL SCREW - EIR12l3 %
el 1212
INTEGRAL MULLION NOTES: s . 0 cIRISIR |x
THE FATBOY PINE MULLION, "Fusionframe” MULLION, OR THE "FusionFrame" BACK-TO-BACK <y #BXZVZ'PRHWS (2 — 1T LATCH STRIKE g1/
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. T K e BLATE =510
CONCRETE ANCHOR NOTES: \ § g § §
1. Concrete anchor locations at the corners may be adjusted to maintain the min. DETAIL 1 o Tol<
edge distance to mortar joints. _ Integral mullion attachment STRIKE PLATE DETAIL N NN
2. Concrete anchor locations noted as "MAX. ON CENTER"” must be adjusted to 2| 19l8lz
maintain the min. edge distance to mortar joints, additional concrete anchors \é\ § NG
O
zZ

#8X 2-1/2" PFH WS 1 /on
/ /#8X21/2 PFH WS

3
2

oate: 8,/08/12

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBC\TX-4210-11.dwg, 74

Lt . Z '

9 L118~ i

#BXT"PFHWS&e 1| of " " rall= scalE:  N.T.S.

TYPE R Hlo 1 #isx.fs/zt PFH WS #8 X 1" PFH wsé:‘ 1, S 48 X 3/4" PFH WS R
’Tw ® " " 2 1/2" 3“ \‘ 4 X4 HINGE S 4IIX4" H!NGE CHK. BY: LFS

TAPCON 1/ 1-3/ ) \ A\8 DRAWING NO.:
ELCO ,, . . " TX—4211

utrRacon®| 1-3/ 1 3 HINGE DETAIL 1 - HINGE DETAIL 2 —

© zo012 R.W. BUILDING CONSLULTANTS INC.



